§. = vessel at rest at the origin of an xy coordinate system
Wuics into three pieces. Just after the explosion, one piece,
s 71, moves with velocity (=30 m/§)1 and a second piece,
§ o mass m, moves with velocity (=30 m/s)j. The third
:i:_ mass 3m. Just after the explosion, what are the (a)
guecde and (b) direction of the velocity of the third
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bullet moving at 672 m/s strikes a 700 ¢ wooden
n a frictionless surface. The bullet emerges, trav-
e s=me direction with its speed reduced to 428 mi/s.
\abic-~c resulting speed of the block? (b) What is the
fifhe-ullct-block center of mass?
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**50 In Fig. 9-60, a 10 g bul-
let moving directly upward at
1000 m/s strikes and passes
through the center of mass of
a 5.0 kg block initially at rest.
The bullet emerges from the
block moving directly upward
at 400 m/s. To what maximum
height does the block then rise Fig. 9-60  Problem 50,
above its initial position?
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96 e blocks in Fig. 10-37 slide without friction. (a) What is the
velocity v"of the 1.6 kg block after the collision? (b) Is the collision
elastic? (c) Suppose the initial velocity of the 2.4 kg block is the
reverse of what is shown. Can the velocity ¥ of the 1.6 kg block
after the collision be in the direction shown? ssm
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® In Fig. 9-22, projectile particle 1 is an alpha particle
§ mmget particle 2 is an oxygen nucleus. The alpha particle
catered at angle 6, = 64.0° and the oxygen nucleus recoils
#speed 1.20 X 10° m/s and at angle 6, = 51.0° In atomic
=aits, the mass of the alpha particle is 4.00 u and the
ot the oxygen nucleus is 16.0 u. What are the (a) final
W = initial speeds of the alpha particle? ww
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€6, 70 2.0 kg bodies, A and B, collide. The velocities
Wpere :he collision are 7, = (151 + 30]) m/s and v =
2=1DL + 5.0)) mis. Atter the collision, 7 = (=5.0f + 20))
Wfe. 7 mat are (a) the final velocity of B and (b) the change
i thebocal kinetic energy (including sign)?
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